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QUESTION 1

While configuring the VRF Selection feature, you get an error message after typing the below statement: 

Router(config)#no vrf selection source 172.16.0.0 255.255.0.0 vrf VRF1 

Which action caused this message? 

A. the entry of an inconsistent IP address and mask for VRF Selection 

B. an attempt to configure a VRF instance on an interface that already has VRF Selection configured 

C. an attempt to remove a VRF Selection entry that does not exist 

D. an attempt to configure a VRF Selection table that does not exist 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/td/docs/ios/12_2/12_2sz/feature/guide/122szvrf.html 

 

QUESTION 2

Refer to the exhibit. A technician is troubleshooting a connectivity issue and notices that there is no IS-IS adjacency
between R1 and R2. What can the technician change to bring the IS-IS adjacency up? 

A. Change R2\\'s net address to be in the same area as R1. 

B. Change R1\\'s is-type to level-2-only 

C. Change R1\\'s net address to be in the same area as R2. 
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D. Change R2\\'s configuration to no longer set the overload bit. 

Correct Answer: B 

 

QUESTION 3

An engineer is investigating an EVPN traffic flow issue. Which type of traffic should the engineer allow in an EVPN Tree
Service in order to fix this issue? 

A. known unicast from a leaf to another leaf 

B. unknown unicast from a leaf to another leaf 

C. multicast from a leaf to another leaf 

D. known unicast from a root to another root 

Correct Answer: D 

Reference: https://tools.ietf.org/html/draft-ietf-bess-evpn-etree-14 

 

QUESTION 4

DRAG DROP 

Drag and drop the EVPN components from the left onto the correct planes on the right. 

Select and Place: 

Correct Answer: 
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Reference: https://www.cisco.com/c/dam/m/en_us/network-intelligence/service-provider/digital-
transformation/knowledge-network-webinars/pdfs/0420-epn-ckn.pdf slide 8 

 

QUESTION 5

Refer to the exhibit. Which statement about this output is true? 

A. The router IP 192.168.1.2 sent an implicit null, and the output is from the penultimate LSR. 

B. The adjacent router is the egress LSR and has mpls ldp explicit-null configured. 

C. The adjacent LSR router configured mpls label range 0. 

D. The zero in the second column is the normal behavior of an egress router LSR. 

Correct Answer: B 
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QUESTION 6

While implementing Layer 3 MPLS VPN, which feature should an engineer use at the PEs to transform the customer
IPv4 prefixes into a unique 96-bit prefix? 

A. RT 

B. VC ID 

C. RD 

D. PW ID 

Correct Answer: C 

 

QUESTION 7

What must match in the EVPN and L2VPN configuration mode when configuring EVPN native in a router? 

A. interface 

B. address family 

C. bridge domain 

D. EVI 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr9000/software/asr9k-r6-2/lxvpn/configuration/guide/b-l2vpn-
cg-asr9000-62x/b-l2vpn-cg-asr9000-62x_chapter_01011.html 

 

QUESTION 8

Refer to the exhibit. Which statement describes the result of this BGP configuration? 

A. R1 operates using IPv4 and VPNv4 address families. 

B. R1 operates on IPv6 only because the bgp default ipv4-unicast command is missing. 
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C. R1 establishes a VPNv4 eBGP relationship with neighbor 192.168.1.1. 

D. R1 establishes an iBGP relationship with peer 192.168.1.1. 

Correct Answer: D 

 

QUESTION 9

Refer to the exhibit. What is the effect of this configuration? 

A. The mroute table is cleared. 

B. Router 1 accepts multicast routes with a tag of 12:1 

C. A Cisco MPLS TE tunnel is generated with 192.168.1.2 as the source IP address of router 1. 

D. An LSP virtual interface tunnel is created. 

Correct Answer: B 

 

QUESTION 10

While troubleshooting EoMPLS configuration problems, which three parameters should an engineer match between the
two ends of the pseudowire configurations? (Choose three.) 

A. VLAN name 

B. Xconnect group name 

C. EFP subinterface number 

D. pseudowire ID 

E. MTU size 

F. control word usage 

Correct Answer: DEF 
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Reference: https://www.cisco.com/c/en/us/support/docs/multiprotocol-label-switching-mpls/mpls/213238-mpls-l2vpn-
pseudowire.html 

 

QUESTION 11

Refer to the exhibit. If the two devices are operating normally, which two conclusions can you draw from this
configuration? (Choose two.) 

A. CE1 must use OSPF to establish a neighbor relationship with PE1. 

B. PE1 labels the routes it learns from CE1 with the route-target 222:2 and shares them with its VPNv4 peers. 

C. PE1 labels the routes it learns from CE1 with the route-target 111:1 and shares them with its VPNv4 peers. 

D. The PE-CE routes between the devices are being exchanged by OSPF 

E. CE1 is supporting CSC. 

Correct Answer: AD 

 

QUESTION 12

An engineer is troubleshooting an ongoing network outage. Which command should he use that can display the live log
files for a process or service running on a network device? 

A. traceroute 

B. show run 

C. ping 

D. debug 

Correct Answer: D 
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QUESTION 13

Refer to the exhibit: 

A network engineer is implementing an OSPF configuration Based on the output, which statement is true? 

A. In the ospfv3 1 area 1 ipv4 command, area 0 must be configured instead of area 1. 

B. OSPFv3 does not run for IPv4 on FastEthemet0/0 until IPv6 routing is enabled on the router and IPv6 is enabled on
interface Fastfc.thernet0/0 

C. OSPFv3 cannot be configured for IPv4; OSPFv3 works only for IPv6. 

D. IPv6 routing not enabled" is just an informational message and OSPFv3 runs for IPv4 on interface FastEthernet0/0
anyway 

Correct Answer: B 

 

QUESTION 14

Refer to the exhibit. Which effect of this configuration is true? 

A. It configures VPWS multihomed. 
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B. It configures VPWS single homed. 

C. It configures an IPv4 peering with 192.168.1.1 

D. It configures MPLS traffic engineering. 

Correct Answer: B 

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/emea/docs/2019/pdf/BRKSPG-2798.pdf 

 

QUESTION 15

Which optional information can be included with an IPv6 ping to support the troubleshooting process? 

A. IPv4 IP address 

B. source MAC address 

C. destination MAC address 

D. IPv6 hostname 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipv6/configuration/xe-3s/ipv6-xe-36s-book/ip6-mng-
apps.html 
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